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COUNTING KIT

Can you work out the numerical value of  each symbol? The number at the 
end of  each row or column is the sum of  the values in that row or column.
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CROSS IT, MO!
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TABLE TEASER

When two football teams play each other in a league, the winning team gets 3 points and the 
losing team gets 0 points. If  they draw, they get 1 point each. At the end of  a competition between 

Argentina, Brazil and Peru, the table looked like this. Can you fill in the scoreboards below?
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FOOTBALL FUNFAIR
C

an you find your w
ay through the football funfair? 

Start at the entrance and m
ake your w

ay through the 

m
aze to the exit. If you hit a ball, it’s a dead end!
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ANSWERS
1. Rotate the duck by 90 degrees and you will see a rabbit.

2. 

3. The number five: five fingers, five-a-side, 5 o’clock, five weekdays.

4. They are two of a set of triplets! They have a brother, Agostino, who also plays for  
the college football team.

5. a)     b) 

6. is number 4

 is number 3

 is number 6

 is number 2

 
is number 5

 is number 1

 is number 8

7. The headline says:
 

8. Argentina scored 0 points, so they must have lost both their games. They  
didn’t score any goals, so we can put 0 as their score to both their games.

 Peru conceded two goals. We know Argentina didn’t score these, so Brazil  
must have scored them in their match against Peru. So you can put 2 in  
Brazil’s score for Brazil v. Peru.

 Brazil scored 3 goals. We know 2 of these were against Peru. So the third  
goal must have been in their other match against Argentina. We can put 1  
in their score.

 We also know Brazil let in 1 goal. It can’t have been in their match  
against Argentina, so 1 must be Peru’s score against Brazil. 

 Peru scored 2 goals in total. So their other goal must be the winning goal  
against Argentina.

9. 

10. a) and e) will make a knot.

11. a)   They are in a stadium taking part in a Mexican wave. 
 b)   The match was an important game, like a cup final, and the happy players are  

      crying tears of joy. The losing players are keeping up appearances in order to  
      appear respectful and gracious in defeat.

F O U L

F O A L

G O A L

S H O O T

S C O R E

S H O R T

S H O R E

Brazil v. Peru Peru v. Argentina Brazil v. Argentina
Brazil 2 1 1

1 0 0
Peru Brazil

Peru Argentina Argentina

E A R

J A W

E Y E

G U M

L I P

R I BA R M

H I P

L E G

T O E

a) Striker nets hat-TRICK
b) Star in WORLD -record transfer bid
c) UnderDOG beats Utd in FA Cup shock 
d) My penalty SHOOT-OUT nightmare

E V E R T O N

G A

Y G O A L S

P L S K

T R E N T U

O L

A R S E N A L

 1.  2.

 3.  4.  5.

 6.

 7.
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94. 

 Here’s how we get there:  Algeria played 3 and won 2. Their other game must have 
been a defeat, since if it was a draw, they would not have equal goals scored and 
conceded. So we can put a 1 in the Lost column, a 0 in the Drawn column, and 6 in the 
Points column. If three of the teams have a 0 in the Drawn column, the fourth must 
have a 0, since if that team played a draw, one of the other teams would have been 
involved! But we know they didn’t since all the others had no drawn matches.

 Bolivia conceded no goals, so cannot have lost any games. So put a 0 in the Lost 
column, a 1 in the Matches played column and a 3 in the Points column. Croatia did 
not draw, but they scored one goal and conceded one goal. So they must have won 
one game 1-0 and lost a game 1-0. We can put a 1 in both the Won and the Lost 
columns, a 2 in the Matches played column and a 3 in the Points column.

 So far we know that Algeria played 3, Bolivia played 1 and Croatia played 2. In other 
words, Algeria played all the other teams (including Denmark). So Bolivia’s game must 
have been against Algeria. Which means that one of Croatia’s two games must have 
been against Denmark. So Denmark played twice, and we can put a 2 in the Matches 
played column. 

 The total of the Won column must equal the total of the Lost column, so Denmark 
must have lost both their games, and we can put a 0 in the Won, a 2 in the Lost and  
we can put 0 in the Points column. 

 The games that took place are Algeria v. Bolivia (0-2), Algeria v. Croatia (1-0),  
Croatia v. Denmark (1-0) and Algeria v. Denmark, which was 4-3 because the  
remaining number of goals scored for Algeria is 4, and the remaining number  
of goals conceded is 3. 

 
 We finish Denmark’s row with a 3 and a 5.

95. There are lots of words you could make with the letters.
 Two-letter words: AN, AT, LA, PA, TA. 
 Three-letter words: ANT, ANY, APE, APT, ATE, EAT, LAP, LAY, LET, NAP, NET, PAL, PAN, 

PEN, PEA, PAY, PET, PLY, TAN, TAP, TEA, TEN, YAP, YEP, YET. 
 Four-letter words: LANE, LATE, LEAN, LEAP, LENT, LEPT, NEAT, PALE, PANE, PANT, 

PATE, PEAL, PEAT, PELT, PLAN, PLAY, PLEA, TALE, TAPE, TYPE, YELP. 
 Five-letter words: LEANT, LEAPT, PANEL, PETAL, PLANE, PLANT, PLATE, PLEAT.  

Six-letter words: NEATLY, PLANET, PLENTY.

Matches 
played

Won Lost Drawn Goals 
scored

Goals 
conceded

Points

Algeria 3 2 1 0 5 5 6

Bolivia 1 1 0 0 2 0 3

Croatia 2 1 1 0 1 1 3

Denmark 2 0 2 0 3 5 0

96. 

97. Ben picked up the fifth tumbler, poured the juice into the second tumbler,  
and replaced the empty fifth tumbler in its original position. 

98. 

99. 

100. A shirt!
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a) Both clubs are based in cities – Reading and Nice – that also spell words  
in English. Although, “reading” is pronounced differently from Reading and “nice”  
is pronounced differently from Nice.

b) The old footballer was the mother of the young footballer.

a) Brighton
b) Everton

c) West Ham
d) Chelsea

e) Celtic
f) Stoke
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